101.

Match the following :

Technology
{a) Ae;-nplane
(b} Air Balloon
@ Rocker
{d) Steam Engine
(a) (Ih) (c)
(Al 1 3 .
By 3 1 4
{Cy 4 2 3
G 2 4 1
Epasam_supenp dummEss -
AEmfldmL b
(2) eflwmans
(b} smbm Lgnen
) gradlal
{d) frredl erpSimn
(a) {b) (c)
fAy 1 3 2
® 3 1 4
) 4 2 3
() : - 4 1

 Scientific Principles
Newton's Law
Bernoulli's Principle
Law of thermodynamies

Buoyant Foree

(d)

B

(d)

| =)

sifileild gEgab
L ilen &l
Quremmedleu S&greuLb
deulin Jplwiges ehlH

gR LT shleme

aT
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108, | Aveangnthe following in inesastig Gedes of ieir S viline

1

I1.

I1L
IV

(A)

wr

Human Blood
Stomach acid
Pure water
Milk

IL OO0, IV and 1
ILIV,HIand 1

(B) II I [land IV

(Dj 1, ITL, IV and 11

Epsnaimuenaserer seuddlean pH wﬁmm.nnu.sm_ﬂﬁ w B SPLDESEL LD :

L
IL
I1I.
IV.

(A)
(G

G2T/15

welg @msl
EanrUianLs ayuflavid
g i

(] 0]

I1, 11, IV wpmb T

I, IV, 111 wpgib 1

L

B 11, 1, [ wpgen IV
) 1, T, TV wpped 11



104,

105.

Which une of the following bacterium has extensive usage in Genetic Engineering work in
plants?
(Al Clostridium septicum f137  Xanthomonas citri

() Bacillus coapulens M Agrobacterium tumefaciens

ey nipys Qem@lam Uedlwiekleh andla yeratley LbsmBiEs 0 B Limse oo
(A)  sermevig figwib Qedig s (B)  CenGarinmemnen S any

() Cudwen Camumgadite D) sEComumefun Uy 81U flwsrsis

Match the fullowing :

{a) IHiboflavin 1. Vitamin HBa
by Thiamine 2, YWitamin B
{e) DPyridoxine : "3 Vitamin B
(d) Cvanccobalamine | 4. Vitamin I

(a) (b) ) (d}

vy 2 4 3 1
my 2 3 4 1
W 2 4 1 3
(D 1 3 1 2

£\pEaa_supenm UM SsE |

fa)  AGumMAGeredlan 1. aweuUC_ L LOlE Mg
) agwblen 2. epeul e Az
() audlréablan 3. apeul_iflar e |
{d}  ewGernrtarumueniner 4. ' anau_ 1Bl

(a) {b) {c} (d)

A 2 1 3 1 |

B 2 3 4 ]

o 2 4 ] : -
(D) 1 3 4 2

26 (G2T7/15
: [Turn over




107. Name the hormone secroted by the pineal body
" Melatonin
(B) Thymosin
(©)  Relaxin
(D)  Thyrotropin

| Glefusds o gy sréEd apriGuorafien Quui
(A)  QuaCerafldr

(B)  @gCurfa

©  Awrsaden

(N eesGrmgrrider

2T/N5 30




108, Which state has intrnduced the ascheme Ashar for the poor people?

{A) Rajazthan

W  Odissa

{Cy  Bihar

(I}  Jharkhand

kg MHlalh aenlp aafil EHTESE 2T aaran S sang siflapaliublug?
(A}  ommeusmen

{B)  q@uan

{C)  dari -

(1) mridsat

108, Name the anti submarine warfare ship launched in 19% May 2015 at Kolkatta
(A) INS - Rajali
& INS— Kovaratti
(C}  INS — Vikrant

(I NS - Garuda

19 G 2015 siang Garasgsreild @ussiul L erdimay Brepnd CGunt sl efler Gh;u_lfr aTanan’?
{4) meareay. — yrgraf -

(B} 3 GTET T, — EEUTL Ly

(C) . eTe. e, — el &iras &

(D) ep.eramarain. — &mmT

¢ 31 G2T/5
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Goa
(€  Kashmir ' Rajasthan

112. On January lﬂﬂﬂlﬁ.'ﬁhlm&nbhniﬂumnthlnruﬂyuﬁnnh

W M.Y.8. Prasad (B) Saina Nehwal

(Cy Tendulkar ' (D) Dhoni

gearaufl 10, 2015 sfléEnd smprumi Blananay afl (mg - EE EUPRISLLLL §).
(A  MY.S dgarg (B)  ansanr Crégseured

cp} QuammHerar D) Ggref

G2T/15 32 J o



113. The train which has been named ae Yoga Expressis
(A}  Cauvery Express
(B}  Varanasi Express

W Haridwar Mail

(1% Janmabhoomi Express

(‘E'.urrs.rr shlenray vy srem Gt u:ulrr[_f;mL'n Hewau’ e pubtd
(A &rCaufl afleniray auamy

(B)  anrganirdl ofiemey L) T L1y

Q) anfigeunt ellanyey; auaii

(1) Aemannyfl ellenray Gl ig,

114, What is the name given to Tedia’s relief and rescue mission in Quake-hit Nepal?

(A Operation Bluestar
(B)  Operation Viraat
{C)  Onperation Woodrose

W Operation Maitri

Baphiasgsrd Lrdssiol L Cpurerssss Gefur elwh guirmen iy obmb By u-:-mﬂ
GTELEITY 560D HELLREn g 7
(A)  adGrageh Lpgravemi
(B) a0 agen ey

{C) = UGnandt ) (Srme

(D) U Cragear anosi

L 4 a3 ' G2T/15
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116. Mhmmmmhﬁdcﬁlﬂﬁm&am

Guedr

Suraksha Samridhi Yojana
Sukanya Samridhi Yojana
Sukanya Bima Yojana
Suraksha RBims Yojana

sgpmssarsn  ufw  Gady

dm@uuu L PemeneupBladlhibg Gptey Ga

(A)
(B)
(0
(D)

G2T/15

srsast sofgH b
seenun sofEE S b
saemur Swor Sl

srdagm Swn gl 1b

a4

Huigflan  sflumen

Guweny

56y
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118,

(A)

metal is found in the contreversial ‘p‘mr] uct of Maggie Noodles,

Aluminium

G’ lLead

gréanssgiiu Giodl Erfdes gwrtlldd sohgeeranss sanluiEio o Cars

(A)

(C}

Arrange the following peaks of the Himalayas in descending order of height :

1L
1L
111

IV.

(A}
(C)

. éq@,uﬂeuﬂmlm

FFFLLI LTy

Fwveresl.
Nanda evi
Dhaulagiri

Nanga Parbat

I I, IV, 111

1, IV, 111, TT

(B} Iren

{Dljl Potassium

B @aoy

(0 Gurlordlud

WwOLILIV, I

My IV, L I, HI

Spsasrgnh Glowinmad Aartismer 2 winhdldn S Lo G Giokie auflen s iLiS s |

I.
il
111

IV,

(A)
(C)

;;rsuﬂgsfur'_
Epan Gpell
(ol g g ]
HRIST uﬁ-us,i_,
L 1L, 1V, 11T

LIV, T 11

(B L ILIV. I

(y IV, T, I, ITI

G2T/15
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{a)

(b}
(e)

(d

(1)
(©)
(D)

G2IT/15

Gereslain

apiene
@omé




120.

ldentify the original states before its bifurcation and choose the correct answer from the

codes given below.

{a)
(b)
{c)
{d)

(A

(B)

(D)

A

IIar}TH na
Jharkhand
Uttaralthand
Chattisgarh
{a) (b)
v i
i i
111 v

1 iii

(c)

ii

1.

ii.

1il,

v,

{d}
i1
i
i

v

B

Uttar Pradesh
Madhya Pradesh
Punjah

Bihar

Buowrdlamsmer safluns ORLUSHE apary. s eribe e g e Semar bl mhes e ions

Senwimems seim() £Grp SsrEasin Herer @) wihaaiadlmpe #fluiren eflen_anu, A AT

(a)
{b)
{c}

(d)

{A)
(B)
{G)
(D)

A
Dl mamy
i T T
B BBYTEHED
FU e GRIKT
{a) {b)
v i
11 _ il
ni v

1 iii

L

i

iii.

1w,

{d)

iv

ii

v

B

2 47 ApCasb
o&dlw 19 IJG'&‘-ELIL:I.
u@.EI'I’I.' 1

LT

37
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D) @pPundic Oubdide Gops Urdlsopral wnami wey

122. mm-mmmwdmmmﬁuwﬂ?
- Varahamihra '

(A)

(B)

Brahmagupta

G Aryabhatta
(M Bhaskara

@iSureilen apsd Guipsafp Goans urt?

(A)

(B -

(G

(D)

G2T/15

augrEmSablom
i@
spfucem
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124,

125.

Who was the author of the Natya Shastea?
(A} Sachin Shankar (B} Aswagosha
" DPharatamuni {13 Knalidasa

BTt ut srandlms’ argpdlu op S M wrr?
{AY  sdlan sRaam : (B meveuCsmagr

{C)  umrsapef . (DY araflgrear

National Commission for Scheduled Tribes recommends that a Natianal Education

Commission must be setup for every
(A} e vear . ' {B)  Three vears

() Two vears W Five yedars

TEEMET QUTLHSEHE (5 (pan CeAL el enauid THLESELIIL Geusin ([ aTaT LIphIEy
Blan wasigrsanan Cablu speneamnwih Lfltg ey Dad garerg ?

@) agub e apep (B) pping augLaisends e pap

€  Brem b hisanse G e (D) el axbLriisEnEE @ (pmD

Who was the first recipient of Bharat Ratna Award?
(A) Dr. 8. Radhakrishnan - WA Sri. Rajagopalachari
() Pandit Jawaharlal Nehru {I¥} Dr. Rajendra Praszad

apgedld Lmpg rHenm eflimdlepars) QUIbmeT wirT?
{(A) L& aTan, Eimngrdlmepemren (B} ik mrgpGerurassmfl

(C)  usmg gelanrame Gimgm ' I s i @erGomdir TETH

39 G2T/15
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127. Which one of the ﬁuﬂawincpmvhiunqmbeumendadbyndmphmljnﬁt!inthe
parliament? .
(A) Provisions relating to Executive power of the union
(B)  Provisions relating to Executive power of the state _
(©) Provisions relating to constitution of a High Court for Unian Territory ]
@ Provisions relating to composition of the legislative councils of the state

Gereumid  fpepssia abs G LnmEgnaDse g GuEGBLTEDL gD
fleopGeuppin Gugno? |

(8)  widu s Bieurs sflsariger Ggrrure el dopampsdr

B)  waflessdd fiurs sfsriisd Asmiures slgopapsar

©  walud 9rGss awiffoan reamoiy @gmmuman aflflpepmaan

(D) wrfedda sl Guama wapd Ggr_fusen el fopmpsd

G2T/15 40 ' : | 5



125,

129.

130.

The Lt)kpﬂl hill was first introduced 1n the Lok Sabha in whieh vear?

v 1968 {B) 1967

{1965 (D 1864

Gayrgumea wGETET Apgerpgadlay (Fanrd sumsiled erts e (B sflipasleRealin’ g7
{A) 1968 : {13y 1967
(Cy 1965 (D7 1964

The Verma Commirttee on fundamental dutics was sct-up in the year

W 1699 (B) 199%

(C) 1996 C Dy 1994

gL S enseT Wsrer cufon &AL g TOUBES L. 5@k
(A) 1999 (By 1998
(Cy 1996 (I 19494

Which one of the following articles savs, “The Viee President presides over the mectings of

the eouncil of states™?

v 89 ' (B) 90

1y 87 ' (D) 88

Wereumessnenbmner abs Sgsanl Of saram @uurs seoall omblab sarme s L hsgsHs

SENQERLD &A% ETT eTal s Eims)?
(A) 89 ' ~ (B) 80
{Cy &7 ' ' (D) 88

41

G2T/15

[Turn over

-



132, Which ene of the following States of [ndia has no railway line?
(A) Arunachal Pradesh

(B) Meghalaya
(C) Tripura
T Nagaland

Bouyiures Gdors Gndw onflod ergi?
{A) umenmesal SyGsan

{B) CGuamanwnr

¢y SAgyone
{D)  prearmg
G2T/15 - 42
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133,

134.

Land reforms pruvide

(A)

B

>

(D)

Finance for improving fertilily of land halding

Incentives and encouragement to land owners

Incentives and encouragement to the tillers

Finance for starting petty shops for farmers

Hlasdrdmesn S pssraruamasaild aabann apdduinns el Seg?

(A)
()
©

(D}

plavdigafian e pusdlsfiner iflaflas B4 smag

thlst 2 &t @RINILITETT H(ERES, eE&EEEHETmEL LD, STEEALD el

hlswiiEanat 2 (D 0 (e T E (@S, BrassHdSTensi |, sardmapn salllug)

chileus T 6T £ SenL ST G’IﬁgnL@&; 1l Fmeam

Who among the following has made the first systematic attempt of planning in India?

{A)  Jawaharlal Nehru

(By  Mahaima Gandhiji

W M. Viswesvarayya

(Iy  P.C. Mahalnobis

Gér  Gen@esoncde  wrr  Gpsunetd
oGl Emar_e.m?

(A)  sgeamisomsd Cmem

(B)  wardwn arSgg

€y M. sflaGeusvenminur '
(n  P.C. oseGpmis

43

meg‘inmrrm Al bl e

apundlerw  apgedld

2Ti15
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i36. When did Nehru mmmﬂm-ﬂmmf

s

(B)
(€
(I3

BbAw Caflu srisdyat gevwerrs Cres e Gung QurpLGUHOTT?

(A)
(B)
AC)
(1))

G2TNS

On 6 July 1946

On 15 August 1947
On 26 November 1949
On 26 January 1950

m&ae 6, 1946
aaan(y 15, 1947
meulbui 26, 1949

ganaufil 26, 1950
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4 138,

From which novel was the National song of Vande Mataram taken? -
(A}  Bavani Mandir

(B S:.mdh}fa

Ly Kesar;l

W Anand Math

“eurh s omsmD” srendin Gl LML e aThS g;nmsﬂaﬂ!{fggjgﬂ a{pEELLILL 57
(A WEA = T3

(B)  ameanige |-n

© ol

{1} mypenms oL Lb

During the freedom scruggle on which day the Indian National Congress celebrated the

Poorna Swaraj?

W January 26, 1930

{(By  January 26, 1929
(€  August 15, 1930

(I August 15, 1929

Abdu sfBsma G J.FFUWI'_I_ STarGEld, LLTanT &&5LT BAETTS aThS Hren Qaar.rmn._rr:_uu:'_:_@?
(A)  eemeufll 26, 1930

B} meneud 26, 1929

{Cy  mmavl 15, 1930

(D) gpsewl 15, 1529

435 : G2T{15
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140.  Arrange in descending order :
Vi3, 455, 5, NG, Wi
5, Viz, 420, Y35, Wiz
® VR, Vi, Y30, Wi, 45
© iz, ¥%0, Y20, Y25, ¥iiz

(D)

Y5, 3112, V13, VA0, 470

QMMW :I
1z, ¥20, V25, V80, 112

@)
()
©
)

G2T/15

¥80, ¥12, Y20, ¥niz, Y25
Vi2, 8o, 420, V25, W12

25, ¥z, Y1z, V80, Y20

——
=
——
e
——
- —
——
—
— =

"




L P L B A S

141.  Find the range of the folloewing data ;

2h, 67, 78, 43, 21, 17, 49, H4. 76, 92, 20, 45, 86, 37, 35.

(Ay 78
o
(Cy 92
D) 86

&Gy Garhssul Herar eflauiisatler oiss eremen?

2h, 67, T8, 43, 21, 17, 49, 54, 76, 92, 20, 15, 86, 37, 35.

(A) 78
(B) 785
{Cry oz
M) 86

C1420 As Bla sister, Ci1s B's mother, D is C's father, E is I¥s mother. Then, A is the
of I

(A (irand mother

{B)  Grand father )

()  Daughter ' )
W Grand daughter

A eraueui B-ar #Cangfl, C ardnacur B-en gmi, D saueui C-ar getuean wimp E adueur D-er

&I eremmimen, A eremueur D-ufler

(&)  omlig
{BY  srggn
() wsar
(D) Gugsl
o . 47 G2TN5
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144. A hollow cylindrical iron pipe is of length 35 em. Its outer and inner diameters are 10 em
and 8 em respectively. M&Mﬁdt&apipliﬂ_ﬂﬂ!hﬂﬁ‘hl"!p.

W 693kg

(L)
(©)
m

9,90 kyg
7.03 kg
7.93 kg

5 edtpp Hoio @prddr fard 35 Geb spd Gudfl whph ed Hlben poptu
10 Geif whgbd 8 Qs.8 aafla, Gmos Gyria amemy srdns. [1 508 Gmbdd e
7 fymb] -

{A)
(B)
(0
)

G2T/15

6.93 44
9.90 &4
7.53 &4

7.93 £4



145, I'ind out the missing term in lhe given alphabel series.

AZ, GT,MN, ___ YB
(A) 1
W sl

@ 8K

oy TS

Herauhin Gleme Agnui auflensudles e’ L Qsm i ereman?

AZ GT,MN, . YB
(A JH
B Sl
() SK
M TS

146. 7 men can complete a work in 32 days. In how many days will 13 men {inich the same work?
(A 20 days
(B} 13 days
{Cy 7 days

«F 23 days

T g6t @ Gosmavenw 52 prlgofler Qslg apgsdemment. auCs Geuamamenws 13 2y adt GT b b ST
BT satler Weiig) apgnsmaer?

(A) 20 priser N

{B) 12 mm=an

(G 7 erlaar

(T 2B 1r_F;ITI'_E€‘I':I'

\ 4 49 G2T/15
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148, Find the LOM of 4°,47 4% and 47

o

By 4
4
m 47

4% 4% 4% 47 _én 8. Qun.Qu srars

EVIIE
By 4

c 4
() 47

G2TA5
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150

Find the missing number in the following :
4242, 4234, 4230, 4266, 4214, 42758,

{AY 4264
(B) 4272
(C) 4228

& 1206

&G daras i (Heren st cuflansuiles efHLC 1 samanara aeior (piLlg -

4242, 4204, 4230, 41266, 4218, 41278, -

(A) 4264 |

(By 4272 ' °
{Cy 4228

(M) 4206

The average of 4 values is 20 and when a quantity is added to cach value the average is 22, -

Find the quantity.

@ 1 ",

{Cy 3 (D) 4

4 wdlliyseflen sprefl 20 @i g ar 4 wdon jEaflgn sl ul L Sear srrefl 22 ararflé

St L LI | GTET oTae 7

(A 1 : ' (B 2
{Cy 3 | D)y 4

5l G2T/15
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(@, i) wppib (i) (B (), (i) whgd (v)
@), (i) o> () ®) O, () wdpd (v)

162. Why the wings of an aeroplane are shaped with lower surface being flat and the upper
surface being curved?

(&) Toreduce vibration

"  To make difference in pressure to lift the plane vertically
(C) Toaccommodate more passengers in the wing

(D)  Tostrengthen the wheels fitted in wings —

silwrer Gpamadan SHUTIY sowrseb, Guduriiy emareunsa EmLILE gar?
(A)  sfineney Gennda

(B)  wrgul.L spsssens e e rad silorangag CroGlaapbu dadw

(C)  sflsurer Lwesllsmen gbp

D)  @rsmafd dunmssiu Henar sharpdbe el Coiss

. G2T/15 53 ' *



- 1564

Match the fullowing :
Famous Indian Scientist
(a)  C.V. Raman
by J.C Bose
fe;  M.N. Saha

{d) 35.N. Bose

{a) (b} (e} (d)

(A) 1 2 3 4
(B} 2 3 1 1
3 4 1 g

' 4 ]

[ 24
e

Sip&asin cupeny Gammis)s :
Lyspplala i fEdh o fleyraar

(a}  A.al @rmoedn

(h)  Gm & Gumn

(¢} e eram sranm

(d)  @en.erer. Cumen

(a) (b} {c) (d)

(A) 1 2 3 4
(B) 2 3 4 1
() 3 4 1. 2
(D) 4 1 2 3

Their Contribution

Ultra Short Radio Waves
Thermal [onization
Quantum Statistics

inelastic Scaltering of Light

eursafles Lmisaiiy

1655 @mdhu Grg Gunm siava ser

GEleulin ywsthu rsse:

" gheumenTLad LjarefluTlis

BipsFwby gellEfienes

53 ' G2TH5
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Bren&md penaqpenm wifsdamdad

e L0 BD b

L=

-~

(d}

—- kS e Ll

U CGyrinrenen
gpdeuenerté pMTGLRENED
anL1Gr sl cna

=y, TEGan e GL e

B W M
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156.

Match the following :

{a) Caastor oil
(b))  Gingley oil
(c) Neem oil
(d) e B
(a) ® ©
Ay ¥ 4
@ 3 2 1
N 1 1 2
Dy 2 4 3
QUmmEss :
() eflemsclman iy
(b}  mer@aredmianmi
{c)  Geudu ereinGlesm
(d) & e eemrDanril
@  ®  ©
@ 1 3 4
B) 3 2 1
) 4 1 i
Dy 2 4 3

(d)

[0

Sesamum indicum

Azadirachty indica

Arachis hvpogea

Hizinus communis

#lgnioid {3)eiig sin

=HEFMe ET ST 56 sm

Bigaddlen enainGumeur

i Flemain &by efiay

G2T/15
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168, What is the other name for Leprosy?
{A) Botulism

(B) Tetanus
w Hansen's disease

 QAsmgCrmiben wHEpms Guwit aenan?
A unpedlsn
(B) Qi rena
(C)  aoersdnav Cpmu
(D) Grdev

GZT/15




i59. Name the visually challenged person who got selected in 2015 Civil Service Examination
M Benn Zephine
(B}  Bianea Catherine
fCy  dJulie Laudine
(M Janet Catherine

2015 3 i wier el sar Garetley Geum bl Gunm LT aneu D Heu T wEm?
AY GalLGamm g em s

(B}  dwrersr Csizfer

(Y meell ewmig s

(N Capen Gaggfer

160 The device which can store more data among the following 1s
' DVD (B) ©CDROM
(Cy  ROM ] (M CDRW

G Qermdaliu_Heararapeusatla mfla grasamear Gadlhsaia g
() DVD (B) D ROM
()  ROM | (D) CDRW

161. EDGE stands for
(A) Extended Data for GSM Evalution
@f‘ Enhanced Pala for GSM Evolutinn
{(Cy  Enhanced Data for Glohal Evﬁlutimll
{0}  Extended Data for (dabal Evolution

-~

EDGE sranugen efifleumssin

(A Extended Data for GSM Evolution «

{B) Enhanced Data for GSM Evolution

{C)  Enhanced Data for Global Evolution

(D) Extended Data for Global Evolution 5

* 57 ' G2T/15
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163. The Indian Airport which bagged the prestigious ‘Golden Peacock National award for the
year 2015'is '

" Delhi International Airport

(B)  Veer Savarkar International Airport

(C)  Chatrapathi Sivaji International Airport
(D} Trivandrum International Airport
QuepenEgiu -m;qm Gsdiu efigsens’ 2015-6 Qaudrp GpHws aflwren Pleowid
(A) Qi ddfl sreuGses silomen Hlanewid

{B) &b saunivair sivauCes alwma Hlavawin

©)  sifirud Aaurg #iauCge sblwnes flaauid

D) Proemppuris siatss dunar fanawid

G2T/15 - 58 : .




164.

1645.

Who among the bllowing was sworn in as the Chief Minister of Jammu and Kasbmir State

*on March 1, 20137

(A)  Umar Abdullah
(1) Gulam Nabi Azad
M Muiti Mohammed Syeed

(D} Farook Abdullah

wfrg 1, 2015-6 glbgp EFFBIEFLEI:I'ILQI'I"@EU pGEnLLEFTTE Ligal Cwhmalt wimit?
Y .imfr @{u;ﬂa‘umrr

{B) Gamin Bl ,8Td

€y wpl0A psbog eels

(D) Jumms sigdar

Where 12 Tndia-based Neutrine Observatory (I.N.O) going to be built?
{A) Ramanathapuram Distriet, Tamil Nadu
(B} Kollam Distriet, Kerala

W Theni l}i.?'trict, Tamil Nadu

{Dy  Uldupi District, Karnataka

G Bl ACarr apieusin (g o g) GbAwumeie emis SinwssiiuL @msdne?
(A} @rmomrsyrih LDI'I'GLIiii_l;]. HLBILpET (B

(B)  Glardimib wreut i ib, Gagarr

(C) '(Eg.aﬁ wiraleLib, SUpmH

(D) 2 (B0 wres LI, &fhrSD

59 2T/156
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e
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i b 2015-@ @pAuin abs s HLare adboa Gréfleoase Srey sam_g?

(&) Lrddogndn - B) aksraGgsb
(©)  flumdmst D) Gekeos

# Barack Obama B Xidinping
(C)  Shinzo Abe (D) Vladimir Putin

B dwreilsn 66-aug @uwirs dar aipr Bspsdidian Hpiy eimpPenns LLCappaud wn? |

{A)  ugr&gumsT (B) o ghlamSins
(©  afienGagr 5CL D) oRemmg B g
G2TN5




169, On successive nights, the moon rises abour
W 52 minutes later
(B} 90 minutes EHI‘Ii{;l‘
(Cy  the same time

{2 hours later

Q'E,I'I'I_I"I':.’_i';g,j aumEp geltleumgs Gralgin sfdren Csrarmcus)
(&) 52 A snosions '

(B) 90 fiip @mmga&a |

G @GrGpygda

{Ih 2 st GmrL SOk

'170.  The diurnal xr':mge of temperature is maximum in the
(A)  Equatorial region
{B)  Savanna grasaland

{C)  Temperale grassland

wf Hot deserts

glensfl Gleulins eflwr S suflsnrsd wranm’ ) LHD @b
(A} yuwsduGrensl SrGsen

{H}_ Feumean Lyebidenafl

(C)  diseul umﬁl_m yd euafl

D) Qeuliul Lirenaia e &eT

* ' 61 G2T/15
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(C) 382 wiser [ 58118

"

(A)
(B)

| Afenails BrbaCransudd whlu 1 waflurs e drar Gurgl, Gpflu widu SisaCyasdien go GCpro

(A)
(B)

(C)
{D)

G2T/15

(D) 326 wés / 5.8.8

430 pm

5.30 pm

o 6.30pm
()

7.30 pm

4.30 pm
550 pm
6.20 pm

7.30 pm .

172. When it is 1.00 pm at Greenwich meridian, the local time at the Central Meridian of India is




1

-1

3.

Whe s rightly called as the ‘Father of Indian Cinema™

'Giedw faflwreflen shens aranm AenpEEULEE et wmm?

(A

During the time of Harsha who served as the head of the Nalanda University?

(A)

(I3}

v

(1)

Qe STagEa BraThe L spaspasd DG saaan audsgeur wri?

(A)
(B)
(©

(D)

Mr. Dadasaheb Phalke
Mr. V. Shantaram
BMr. 8.5 YVasan

br. Guru Thutt

£t grgrerd) urals
A, FBFTID. 6l
&l TG, € G0, ST &R

lem. imon £5

Fahien
Hiuen-Tsang
Shitbhadra

Itzing

Lirmgufiw s
LJEu TG S T
Hesmagrm

& i

63
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176. Name the first Asian, who was the recipient of Nobel Prize for economics.
(A) Subramania Chandrasekhar

()

Y

Crrud ufls Gujm_.l_ﬁ;w WW MWM Cuuiflenen lgﬁ LGHs.

)
(B)
()
(D)

G2T/15

Hargobind Khorana

Chandrasekhar Venkatraman

slbgweaflu sEfrGest
Prof. suwigdwun Qaen
anFGards Camyranm

s SinGssn Qeuris ymodt
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177, Article 3640 of the Indian Constitulion deals with
A War umurgun:‘:}'
By  Constitutional lEmergency in the states
) K Financial Emergency

(IN  Admanistrative Kmergency

Eb S srélu wennliy efidl 360 erengl) LpHl s mAlng ?
(AY  CunrT sm Sy

(B}. mnﬁlm&,ﬁdﬂlal;l_ @(_Lgr_éu@ Ul &l grvemt

(Cy.  Hd Qmopssg

Dy Elreurzs flesa

178.  Which of the following cases prompted the Indian Parliament to enacl 24% Amendment
Ball?
w Golaknath case
(BY Shankari Prasad case
((7y  HKeshvananda Bhu;:ati case

- {13y  Shah Banu case

EmBus urgngsndy 24eng s Fiflmsssding STITETSETEITE @OHS 5&#@5&;{5%: QPR
iy ? ’ |

(A Carassrs aupse

{B} Eréwarﬂiﬂwrr;ia s‘ugé;@

fl:‘U) - Gesaupps Linfl apse

(D) agr urgl enpis -

L &5 G2T/15
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180, Who iz the thirteenth President of India®
(Al Dr. A Abdul Kalam

By Smt. Pratiba Patil

J K.R. Narayanan

(I B.T. Jatti

@ Ay ireilen 13-caug Eanr@u;ﬂ wim?
(A Lrs T AP mlge sem
By dlmwd. Grdur 06

{C)y KR prymussrer

(D) BD. gl

181. Which one of the fellowing is notl a function of Chief Election Commizsicn of India?
w Conduct of elections to the office of the State Governor
(B} Conduct of elections to the offices of the President and Vies-President
() Conduct of clections to Parliament

(Th Conduel of elections to the State Legislatures

Weimsu b Ll zafian arhs geanm Bndw saaan Caisd eyanaambsdr Ll safld EI;L‘.‘-EéTQ_I =edan}

{A)  wrBle ayemsi sawasslbharar Gg;érgyah bl &) & ‘

(B) @aurs Sl DR SO0 5% L5 FENDEUT B G QB K5 b ATEm Gsigadmana
bl HEIHE

(€Y umpmenwamsAharar Ssiadsmen m_bs S

(D} wrlle sl indaphsessrar CEIS0amaT BL5g) &

4 67 2T/15
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183, Whinhmu(thm; programmes is related to employment generation?
()  Sarva Swasthya Abhiyan ' '

(B}  Sarva Shiksha Abhiyan
# Swarna Jayanti Gram Swarozgar Yojana
(D) Indira Awaas Yojana . |

Epasngpid HULkisefla ag Couenaauminiy sfafloug e Ugm e ig?
{A) s avaufl snSlwurer

(B  #veu fsagm 2y Swimer

(C)  dvaiear Qgguipd) diyms sbeuCrggst S ib

(D) BBfor seureu Sl b

G2T/15 | 68 .



184, Match List [ with Ligt Il and zelect the correct answer uzing Lhe codes given below the list :

Last I- Tiast IT

Committes Purpose
{a) Dutt Committee 1.+ Industrial Licensing

(b Wanchoo Committes 2. Diirect Taxes
(¢} Rajamannar Committer 3. Centre-States

{dy Rangarajan Committee 4. - Disinvestment

Codes :
(a) (b) (e} {d)
Ay 4 3 L 1
By 1 2 4 3
1 2 3 1
{4 1 3 2

S eleoant g ol euapar [1-Gorly Gummsd 2wy eflure ufloe Epssrgpn @Bl GO
LiggSHuiisy Samiay Gleds | '

B guenem 1 iU auenenr 11
(D Crr&sih
(8) &4 @ | damflmerane emiodl
(b} eungrs @p 2. Gragpm el
{c)  gugposmemnT @mp 3.« wsdu - orHla ;.%IIJ'&?&EG‘LIT.
(d) gl rgen @i 4. psemend Hminul Gumisd
f

EhdReer:

(a) (b} (c) {d}

Ay 4 3 2 i
By 1 2 | 3
Cy 1 2 3 4
{4 1 3 2
* _ 69 G2T/15
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186, mmmmrmwmﬁnmmmiﬂ

(&)
(1)
()

of

slupuenLs serufl eemae smaturdr aeeb segssout Cunijgsdfiu Srsteuda

Vascodacama
Columbus
Ferdinand
Barthalomeu Diaz

ufipgpeushr wrt?

{A)
(B)
(C)
(D)

G2T715

eurEn GETL_STon
falgmaninLgh
(el g earmgior (3

ufigaldaCou L weu

~N

}

i

ii

e —
—_—
— el
e
==
e —
J—
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pibf |13
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187, Name the first Indian who beeame the member of the British Parliament.
(A)  Gandhiji
By V.0 Chidamb:qmm FPillai
{2y Bubramaniya Aiyer
' Dadabhai Naovoji

ol umyngy e sdir wad @ndw srhssdant wmr?
{A)  =rhdla

(B)  elil.g flsbomb Fedrener

(C)  slroesu mur

() grarumd GeerCrmed

188. TIf-x + i = 2, find the value of " +]—.

X .'r3
(A
2
o) 3
oy 4

Li - ) |
x+—=2 aafld x’ + —5 —em &Il aredran T
x .

x .
(A 1
® 2
© 3
w4

* 71 G2T/15
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180, A survey in which inhﬂ.iuu hm from each and every individual of the population

- is known as
(B) Secondary data

(©)  Schedule :
(D)  Data collection method

om sariGsGuie, Gurds wvisdGsr@sde gaGarpaulBiopslh amksmas

CeaflLugh@ duwi : —
A cpyssafig

(B)  @rammb flena goayser

(C)  eflew Ggrad

M) gy Cesflagb panp

G2T/15
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191, Find the principal that yield a compound interest of Rs. 1,632 1n 2 years at 4% rate of

interest per antum.
(A}  Rs. 10,000
f Rs 20,000
(Cy  Ras, 30,000

{10y Ra. 40,000

A% spaii( cul g effm g 2 gpamfsatd m. 1632 sl [ ey SHLD STEMHTED HFENEDE sl _ayih.
(A) - . 10,000
(B)  m. 20,000
{C) s 30,000

(D . 40,000

192 Mohan started from point P and walked 2 m towards west. e then took a right turn and
walked 3 m hefore taking a left turn and walked 5 m. Ie finally took a le:ft turn, walked 3 m -

and atopped at a point Q. How far is point } from point P?

(A) 2m By &m

M 7m (D} Bm

Consan eramut P aenn @ adafmig upoul b Cojls 2 & b Weadpri. Gl Euen L&D
A 318 gomb Qsengy, @ Oudsn Hmbd 5 S Fomb deeny, EAmdurs @ Oudad Sambd 38

Finn Wearm ) aanm 3L s SlepL_pant, € arenm Ljgrar P-Ljanafuflds Qmbay eelalata) FNrsdd

BimeAmay?
(3) 2.8 . (B} BE
() 7.8 D) 8.8
. 73 G2T/15
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194, ﬁlimmmw.md:hﬁhihﬂnn,hwnmmpuitum wﬁl )

compose 200 pages of the book in 20 hours?

Ay 8

& 10
© 12
™ 1

12 méss Cariuaunser, 5 wadl Corgdld g ussssfan 60 usshsmen apyuui. 20 wafl Cprgea,

200 ussmBmaT (Pl &S ThEm MEsd Cariuaitsdar Gae?

(A)
(B)
(C)
1))

8

10
12
11

74




138.

196.

If the length of a rectangle is decreased by 50% and the breadth is increased by 80%, then
the % change in the arca of reclangle 15

W decreased by 10%
{By  inecreased by 10%
(0} decreased by 20%

(I3 increased by 20%

@i Qecuaussdlan hard SUE el @enpsgib. Sswbens BUE el dgh sfaflagn GCung
Zig@yen I UTUG & g mu il wrh sl er ssaisn ereme?

(4)  10% semeuns

{B) 10% smydlsnms

(C)  20% meneuns

{1y 20% mflsnrs

The difference between simple and compound interest for a sum of Rs. 5,000 lent at 12% per

annumn in 2 yoears 1s

(4  Rs 720
(B} Rs. 12

W’ R 72

(M}  Rs. 700

. 5.000-geng mpambaE 12% el sl Grerd yamHsmss GEsns i oul LT

gerileul lg LOMMILD Snl (B 61 g Eeneus|an&E, o arar Seum um() SEELD.
{A)  m 720
B  m 12
) m e
Iy s 700
5 GZT/15
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198. amwpimulmqu_mbmﬂ.sﬂofm trees
. were fruit bearing trees. If the number of non-fruit bearing trees was two more than thrice
the number of fruit bearing trees, what was the number of fruit bearing tress planted? '

@A) 20 _ ® 22

© 24 o

o® sammiau Qgren® Hpaend ao Gadlu ApGGs@oien Go yphsaigud ks 5L e,
sapfe Ao sl smo wrbse. sail gors wrhsdd adraflios safl gmb s |
cramaflsanaian ppangy wLkGETH Gramen smlgemd b, Qurggn 106 WriEsT BLOUC (G
@Qpsd, safl S@ib wrhisaen creire dans eréuaueey?

(&) 20 @ 2

€ 24 (D) 26

G2T/15 76 o .




199,  TF“0ORIENT® is wrillen as “5321468" and “30OUL" i5 “7598", how will you write "LINISY

(A)
(B)

s

(D}

9241

B34l

B241

6241

-

"ORIENT” erénp Glancoanar “532146" arangub “SOUL" erenp Glamsiama “ 7398 eremn stopdlarma,

“TINE" arérm Qenevenss erlivig, eT(psyelaer?

(A)
(B)
()

()

5241
83341
B241

G241

200, L7 is related to 58 then 10 is related to

(A
(B)

{5

o

GTERT T,

@
®)
(©
D)

T4 .
i1
al

90

Hb-Des FBUGRSIU I;_I._g_l gramminar, 10—&@ sUBSIUC L eTar
74

G4 .

77
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